

# **Summary of Bids Received**

**Project:** Gilmer Road Bridge Parapet Repairs

**Section:** 20-00073-09-BR

**Description:** Bridge parapet rehabilitation including structural repair of concrete and epoxy crack injection.

<b>Bidder</b> Alliance Contractors, Inc.	Address 1166 Lake Avenue	City, State, Zip Woodstock, IL 60098	<b>Bond</b> Bid Bond	<b>Bid Price</b> \$178,657.78	% Over/Under Eng. Estimate -34.41%	\$ Over/Under Eng. Estimate -\$93,723.2
Path Construction Company	125 E. Algonquin Rd.	Arlington Heights, IL 60005	Bid Bond	\$180,901.13	-33.59%	-\$91,479.8
Kovilic Construction Co.	3721 N. Carnation	Franklin Park, IL 60131-0939	Bid Bond	\$232,974.00	-14.47%	-\$39,407.0
	n Construction Company bid wa	s responsive. It was opened after the	e public openi			
Note: The Path Engineer's Estimate	n Construction Company bid wa	s responsive. It was opened after the	e public openi	ng due to an LCD \$272,381.00		
	n Construction Company bid wa	s responsive. It was opened after the	e public openi			
Engineer's Estimate	Construction Company bid was	s responsive. It was opened after the				
			C	\$272,381.00		



### **Return Bid Tabulation**

Project: Gilmer Road Bridge Parapet Repairs

**Section:** 20-00073-09-BR

**Description:** Bridge parapet rehabilitation including structural repair of concrete and epoxy crack injection.

Item	Pay Code Description		0	11	Eng Es	timate	Alliance Cont	tractors, Inc.	Path Construction Company		Kovilic Cons	truction Co.
No.			Quantity	Unit –	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	50300300	PROTECTIVE COAT	217.0	SQ YD	\$5.00	\$1,085.00	\$5.50	\$1,193.50	\$31.00	\$6,727.00	\$45.00	\$9,765.00
2	59000200	EPOXY CRACK INJECTION	538.0	FOOT	\$90.00	\$48,420.00	\$65.00	\$34,970.00	\$85.00	\$45,730.00	\$50.00	\$26,900.00
3	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	3,832.0	FOOT	\$2.00	\$7,664.00	\$1.20	\$4,598.40	\$1.20	\$4,598.40	\$4.00	\$15,328.00
4	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,868.0	FOOT	\$4.00	\$7,472.00	\$1.56	\$2,914.08	\$1.56	\$2,914.08	\$5.00	\$9,340.00
5	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	7,003.0	FOOT	\$1.00	\$7,003.00	\$0.90	\$6,302.70	\$1.25	\$8,753.75	\$2.00	\$14,006.00
6	78001110	PAINT PAVEMENT MARKING - LINE 4"	1,284.0	FOOT	\$1.00	\$1,284.00	\$1.00	\$1,284.00	\$1.00	\$1,284.00	\$2.00	\$2,568.00
7	78001120	PAINT PAVEMENT MARKING - LINE 5"	1,448.0	FOOT	\$1.00	\$1,448.00	\$1.30	\$1,882.40	\$1.30	\$1,882.40	\$2.00	\$2,896.00
8	LC500017	PROTECTIVE SHIELD (SPECIAL)	1.0	L SUM	\$50,000.00	\$50,000.00	\$47,700.00	\$47,700.00	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00
9	X0326444	SURFACE FILLER (SPECIAL)	2.0	GALLON	\$4,000.00	\$8,000.00	\$1,365.00	\$2,730.00	\$1,550.00	\$3,100.00	\$1,000.00	\$2,000.00
10	X113774X11	PAVEMENT MARKING REMOVAL – WATER BLASTING	2,301.0	SQ FT	\$3.00	\$6,903.00	\$1.00	\$2,301.00	\$3.00	\$6,903.00	\$3.00	\$6,903.00
11	X5030550	PROTECTIVE COAT (SPECIAL)	290.0	SQ YD	\$150.00	\$43,500.00	\$67.85	\$19,676.50	\$55.00	\$15,950.00	\$150.00	\$43,500.00
12	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$9,100.00	\$9,100.00	\$29,825.00	\$29,825.00	\$50,000.00	\$50,000.00	\$30,000.00	\$30,000.00
13	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	2,334.0	SQ YD	\$3.00	\$7,002.00	\$0.30	\$700.20	\$0.25	\$583.50	\$2.00	\$4,668.00
14	Z0012754	STRUCTURAL REPAIR OF CONCRETE (DEPTH EQUAL TO OR LESS THAN 5 INCHES)	19.0	SQ FT	\$3,000.00	\$57,000.00	\$895.00	\$17,005.00	\$175.00	\$3,325.00	\$400.00	\$7,600.00



### **Return Bid Tabulation**

Project: Gilmer Road Bridge Parapet Repairs

**Section:** 20-00073-09-BR

**Description:** Bridge parapet rehabilitation including structural repair of concrete and epoxy crack injection.

Item Pay Code	Description	Quantity	Unit	Eng Estimate		Alliance Cont	ractors, Inc.	Path Construc	tion Company	Kovilic Construction Co.		
No.	No. Pay Code	Description	Quantity	Uill	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
15		STRUCTURAL REPAIR OF CONCRETE (DEPTH GREATER THAN 5 INCHES)	5.0	SQ FT	\$2,500.00	\$12,500.00	\$895.00	\$4,475.00	\$350.00	\$1,750.00	\$500.00	\$2,500.00
16	Z0032400	JOINT REPAIR	2.0	EACH	\$2,000.00	\$4,000.00	\$550.00	\$1,100.00	\$3,700.00	\$7,400.00	\$2,500.00	\$5,000.00
Bid Total						\$272,381.00		\$178,657.78		\$180,901.13		\$232,974.00



### **Return Bid Details**

**Project:** Gilmer Road Bridge Parapet Repairs

Section: 20-00073-09-BR

**Description:** Bridge parapet rehabilitation including structural repair of concrete and epoxy crack injection.

Item	Bay Code	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid	
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price	
1	50300300	PROTECTIVE COAT	217.0	SQ YD	\$5.00	\$1,085.00	\$5.50	\$45.00	\$27.17	
2	59000200	EPOXY CRACK INJECTION	538.0	FOOT	\$90.00	\$48,420.00	\$50.00	\$85.00	\$66.67	
3	70300220	TEMPORARY PAVEMENT MARKING - LINE 4"	3,832.0	FOOT	\$2.00	\$7,664.00	\$1.20	\$4.00	\$2.13	
4	70300260	TEMPORARY PAVEMENT MARKING - LINE 12"	1,868.0	FOOT	\$4.00	\$7,472.00	\$1.56	\$5.00	\$2.71	
5	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	7,003.0	FOOT	\$1.00	\$7,003.00	\$0.90	\$2.00	\$1.38	
6	78001110	PAINT PAVEMENT MARKING - LINE 4"	1,284.0	FOOT	\$1.00	\$1,284.00	\$1.00	\$2.00	\$1.33	
7	78001120	PAINT PAVEMENT MARKING - LINE 5"	1,448.0	FOOT	\$1.00	\$1,448.00	\$1.30	\$2.00	\$1.53	
8	LC500017	PROTECTIVE SHIELD (SPECIAL)	1.0	L SUM	\$50,000.00	\$50,000.00	\$20,000.00	\$50,000.00	\$39,233.33	
9	X0326444	SURFACE FILLER (SPECIAL)	2.0	GALLON	\$4,000.00	\$8,000.00	\$1,000.00	\$1,550.00	\$1,305.00	
10	X0327980	PAVEMENT MARKING REMOVAL – WATER BLASTING	2,301.0	SQ FT	\$3.00	\$6,903.00	\$1.00	\$3.00	\$2.33	
11	X5030550	PROTECTIVE COAT (SPECIAL)	290.0	SQ YD	\$150.00	\$43,500.00	\$55.00	\$150.00	\$90.95	
12	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$9,100.00	\$9,100.00	\$29,825.00	\$50,000.00	\$36,608.33	
13	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	2,334.0	SQ YD	\$3.00	\$7,002.00	\$0.25	\$2.00	\$0.85	



## **Return Bid Details**

**Project:** Gilmer Road Bridge Parapet Repairs

Section: 20-00073-09-BR

**Description:** Bridge parapet rehabilitation including structural repair of concrete and epoxy crack injection.

Item	Day Cada	Description	Quantity	Unit	Eng Es	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	Pay Code	Description	Quantity	Onit	Unit Price	Extnd. Price	Price	Price	
14	Z0012754	STRUCTURAL REPAIR OF CONCRETE (DEPTH EQUAL TO OR LESS THAN 5 INCHES)	19.0	SQ FT	\$3,000.00	\$57,000.00	\$175.00	\$895.00	\$490.00
15	Z0012755	STRUCTURAL REPAIR OF CONCRETE (DEPTH GREATER THAN 5 INCHES)	5.0	SQ FT	\$2,500.00	\$12,500.00	\$350.00	\$895.00	\$581.67
16	Z0032400	JOINT REPAIR	2.0	EACH	\$2,000.00	\$4,000.00	\$550.00	\$3,700.00	\$2,250.00
		Bid Total				\$272,381.00			